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Figure 1: 1�K6§ã

Solution. ��èXe

Algorithm 1: (m− 1)!

Input: m
Output: fact

1 n← 1;
2 fact← 1;
3 while n < m do
4 fact← fact ∗ n;
5 n← n+ 1;

6 end
7 output fact;
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2. �½��èXAlg. 2¤«§��ÑTã�èL«�¿Â"

Algorithm 2: ��è

Input: x1, x2, · · · , x10

Output: n

1 n← 0;
2 for i = 0 to 10 do
3 if xi ≤ 0 then
4 n← n+ 1;
5 end

6 end
7 output n;

Solution. Tã�èL«�¿Â´µÚOÑ\�10�êx1, x2, · · · , x10 ¥�u�u"�ê�
�ên§¿òn ÑÑ"

3. ��O�{¦)¯Kµ“Ñ\ü���ê§ÑÑùü�ê���ú�ê”"£ã�Og´¿
�Ñ��è"

Solution. �Og´
�ü���ê�x!y, k|^Î=�Ø{¦Ñü�ê���úÏêgcd§K��ú�êlcm =
x× y ÷ gcd"

Algorithm 3: LCM(x, y)

Input: x, y ∈ N
Output: x, y���ú�êlcm

1 Ox ← x;
2 Oy ← y;
3 if x < y then
4 x← y;
5 y ← Ox;

6 end
7 repeat
8 gcd← x mod y;
9 x← y;

10 y ← gcd;

11 until gcd = 0;
12 lcm = Ox ∗Oy/gcd;
13 output lcm;
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